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Additional Guidance

In Alt 1, award the Bft if their answer clearly comes from multiplying a
value by 10 000, but not from 0.9 x 10 000 = 9000
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No and gives a correct reason B1 | the top of the cup is wider
the radius of the cup is not constant

Additional Guidance

Ignore irelevant statements with valid reasons

A correct reason will usually reference volume, capacity, surface area,
‘width of the cup or that the shape of the cup is not uniform

No, volume attop is greater than bottom B1
No, more area at top B1
No, wider diameter at top B1
No, doesn'ttake account of volume (capacity) B1
No, because it's cone shaped 81
(condone use of cone)

No, the cup goes down in circumference as you begin to drink B1
No, the cup is not uniform B1
No, she is takking about the height not the volume. B1
No, there is a larger volume in the top half B1
No, more coffee in top half -
(coffee implies capacity)

No, the cup has a changing volume B1

Continues on next page
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shaped so 5cm is not left

No, top half is more (than bottom haif) 80
(no reference to volume)

No, the cup gets smaller 80
No, because of the shape of the cup 80
No, the cup is not straight 80
No, the cup does not have a symmetical shape 80
No, because the volume of coffee is not measured in cm B0
No, because 10cm is the measurement of the cup, not the volume 80

(no reference to height)





